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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 6570 8.1 2.2 12 67.7 99.9
2 6485 6.2 2.4 12 52 98.6
3 6552 7.3 3 12 61.2 99.6
4 6444 6.4 2.5 12 53.2 98
5 6261 6.2 2.8 12 52 95.2
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE PSYCHOLOGY 
 


PY1 Mark Scheme – Summer 2015 
 
Q.1 (a) Describe two assumptions of the biological approach. [4] 
 
  Credit could be given for a description of the following: 


 Brain organisation (e.g. lobes, hemispheres). 


 Brain chemistry (e.g. neurotransmitters). 


 Hormones. 


 The CNS/ANS. 


 The role of genetics/evolution. 
 


 Any other relevant material. 
 


Marks AO1 


4 
Two assumptions are outlined and explained with clear 
reference to psychology. 


3 
Two assumptions are outlined but only one is explained with 
clear reference to psychology OR Two assumptions are 
outlined and explained with some reference to psychology. 


2 
One assumption is outlined and explained with clear reference 
to psychology OR Two assumptions are outlined only. 


1 
One assumption is outlined only OR Two assumptions are 
identified only. 


0 No relevant knowledge or understanding. 
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(b) Explain the main features of  Selye's General Adaptation Syndrome. [8] 
 


  Credit could be given for an explanation of the following: 


 Selye's investigative techniques with rats. 


 Physiological changes occurring during the Alarm stage. 


 Physiological changes occurring during the Resistance stage. 


 Physiological changes occurring during the Exhaustion stage. 
 


 Any other relevant material. 
 


Marks AO1 


7-8 


Content is accurate and well detailed.  Material is used in an 
effective manner (evidence of coherent elaboration) and is 
thorough.  Depth and range of knowledge is displayed, 
although not necessarily in equal measure.  Language 
(including grammar, punctuation and spelling) is  
well structured, coherent and accurate. 


5-6 


Content is reasonably accurate but less detailed.  Material is 
used in an effective manner.  Depth or range of knowledge is 
displayed.  Language (including grammar, punctuation and 
spelling) is accurate, structured and clear. 


3-4 
Content is described in basic detail; material is used in a 
relevant manner but is limited.  Language shows some 
inaccuracies in grammar, punctuation and spelling. 


1-2 
Content is superficial; material is muddled and/or incoherent.  
Language (including grammar, punctuation and spelling) has 
errors. 


0 No relevant knowledge or understanding. 












Sticky Note

Detailed with clear reference to psychological examples.











Sticky Note

The answer demonstrates range however it is slightly in biological detail at each of the stages.




















Sticky Note

A sound response.  However, the answer demonstrates depth more than range.












Sticky Note

Two assumptions are outlined.  However, the answers lack a clear reference to psychology.
 
 









Sticky Note

Unfortunately, the answer contains no range.












(1331-01-R1)


1. (a) Describe two assumptions of the biological approach. [4]


(b) Explain the main features of Selye’s General Adaptation Syndrome. [8]
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Q.3 (a) Analyse two strengths of the behaviourist approach. [6] 
 
  Credit could be given for an analysis of the following: 


 Scientific/objective nature of the approach. 


 Reductionism. 


 The nomothetic nature of the approach. 


 Therapeutic applications. 


 The impact the approach has had on psychology. 
 


 Any other relevant material. 
 
Can only receive credit for one methodology/therapy. 


 


Marks 
(per strength) 


AO2 


3 
Strength is outlined, explained and has detailed reference to 
the approach. 


2 


Strength is outlined, explained and there is some reference 
to the approach. 
OR 
Strength is outlined, briefly explained and has detailed 
reference to the approach. 


1 


Strength is outlined and briefly explained, with no reference 
to the approach. 
OR 
Strength is outlined with some reference but no explanation. 


0 
Strength identified only.  
OR 
No relevant evaluation. 
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 (b) Analyse two weaknesses of the behaviourist approach. [6] 
 


  Credit could be given for an analysis of the following: 


 Issue of reductionism. 


 The deterministic nature of the approach. 


 Ignoring biological factors (nature). 


 Use of animals and issues of generalisability/ethics. 
 


 Any other relevant material. 
 
Can only receive credit for one methodology/therapy. 
 


Marks 
(per weakness) 


AO2 


3 
Weakness is outlined, explained and has detailed reference 
to the approach. 


2 


Weakness is outlined, explained and there is some 
reference to the approach. 
OR 
Weakness is outlined, briefly explained and has detailed 
reference to the approach. 


1 


Weakness is outlined and briefly explained, with no 
reference to the approach. 
OR 
Weakness is outlined with some reference but no 
explanation. 


0 
Weakness identified only.  
OR 
No relevant evaluation. 












Sticky Note

The answer lacks any application/relevance to the approach.







Sticky Note

There is o explanation as to why this is a weakness.
















Sticky Note

Two strengths are clearly identified.  They are clearly explained and linked to the approach.







Sticky Note

Two weaknesses are clearly identified.  They are clearly explained and linked to the approach.












Sticky Note

Although two strengths are identified there is no/lack of application to the approach.



Sticky Note

The first weakness is outlined and explained.  There is some link to the approach.   








Sticky Note

The second weakness would benefit from greater reference to the approach.
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3. (a) Analyse two strengths of the behaviourist approach as applied in psychology. [6]


(b) Analyse two weaknesses of the behaviourist approach as applied in psychology. [6]
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Q.5 Apply and discuss the methodology used by the cognitive approach. [12] 
 
 Credit could be given for a description of the following: 


 Use of introspection. 


 Use of laboratory experimental. 


 Use of case studies, for example, in memory research. 


 Controlled, experimental nature of the approach. 


 Issues of replicability. 


 Issues of objectivity/falsifiability. 
 


 Any other relevant material. 
 


Marks AO3 


10-12 


Method(s) is/are clearly explained and have clear relevance to the 
approach.  Evaluation is thorough and clearly structured, with 
coherent elaboration of relevant strength and weaknesses.  Depth 
and range of discussion are displayed. 


7-9 
Method(s) is/are clearly stated and relevant.  Evaluation is reasonably 
thorough and coherent, with both strengths and weaknesses given. 
Depth or range of discussion is displayed. 


4-6 
Appropriate method(s) is explained in a limited manner.  Evaluation of 
method(s) is limited with evidence of strengths and/or weaknesses. 


1-3 
Statement of method(s) is explained in a limited manner.  Evaluation 
of method(s) is limited with evidence of strengths and/or 
weaknesses.  Evaluation of method(s) is superficial and very limited. 


0 No relevant explanation or evaluation. 


 
 
















Sticky Note

Unfortunately the second method has no application and is limited in its response.
















Sticky Note


 
 
  

Both methods are clearly stated.  Both strengths and weaknesses are discussed.  However, there is a lack of application within the discussion.
















Sticky Note

The answer features a limited application to the approach, and the discussion is basic.
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5. Apply and discuss the methodology used by the cognitive approach. [12]
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